4.1 Solving Poly Equns.notebook September 25, 2015

In your group create the box with the largest volume.
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4.1 Solving Polynomial Equations

Recall: Finding zeroes of a polynomial function.

Example: Find the zeroes of f(X) =3 - 5X2 - 2x + 24

deat- W% T2y LR, T2 R g s

fED= @Y say- zQw.)\?-“ \i Y 135

TR -204 4 +2¢ <
Sl -5 -2 24
-2 4 -4
T3 2z e = X-F %+ 2
= ((3)(%x-4)

T IO (xr)(x-3)(x- 4)

This is the same as....

Thus when we solve ...
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Example 1: Solve for the dimensions of the box created from the piece of paper below that
give a volume of 1500cm3
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3 2
Example 2: Solve 4X3 - 12X - x =-3 => X -(L.x-X+3=o
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Example 3: A boy launches a paper airplane and its height is modelled by h(t) = -5t 2 + 50t.
At the same time the boy's penguin friend launches his paper airplane, outfitted
with a Quantum Ninja Extreme Rocket Engine. The penguin's "jet" has its
height modelled by h(t) = 2t3 - 212 + 74t

(a) At what time(s) does the boy's plane reach a height of 105m?
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(b) At what time(s) does the penguin's jet reach a height of 175m?
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(c) At what time(s) are the two aircraft at the same height?
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